
 

TruTool 
N 1000
 (1B1) 27

29
-9

00
-

3_
06

20
13

-0
5-

22
 

T
C

H
G

63
5l

a

_______________________________________________________________________________________

D      230V 50/60Hz _______________________________________________________________________________________
CH    230V 50/60Hz
GB    110V 50Hz _______________________________________________________________________________________
USA  120V 50/60Hz
KR    220V 60Hz _______________________________________________________________________________________
CN    220V 50Hz

_______________________________________________________________________________________

NO. BEST.-NR. ERSATZTEIL DIN NO. BEST.-NR. ERSATZTEIL NO. BEST.-NR. ERSATZTEIL NO. BEST.-NR. ERSATZTEIL
ORDER. NO. SPARE PART 35 112910 214 083224
NO. DE REF. PIECE DE RECHANGE 36 015750 M8X18 215 083091
NO. DE REF. PIEZA DE RECAMBIO 37 112892  216 083046 B 4,8X78

NO. D'ORDINE PEZZO DI RICAMBIO 38 112903 217 083100 220-230V 50/60Hz
订货号 备件 39 112918 45X58X7 217 083119 110-115V 50/60Hz

2 112898 10 40 113715 218 083127
4 070955 M8X25 41 113714 ORM 8,0X2,0 219 083151
5 112901 42 112907 220 083062 BZ 4,2X13-ST
6 112922 43 112919 58x2 221 083135 220-230V 50/60Hz
7 112395 No.: 7 + 6 44 115464 30X37X20 221 083143 110-115V 50/60Hz
8 118505 37,82X1,78 45 120719 23 X 1.3 222 083160
9 112900 (STANDARD) 46 117378  223 086169 BZ 4,2X16-ST
10 098720 47 112895 224 083216
11 098717 48 089824 225 083208
12 021148 13X1 49 148286 226 083178 110-120V 50/60Hz
13 004795 50 069981 5X5X12 226 083178 220-230V 50/60Hz ...08/01
14 119459 51 119669 NJ 202E.TVP2 226 350330 220-230V 50/60Hz 08/01...
15 072650 M6X100 52 112912 227 083186 D, CH, GB, KR, CN
16 103555 53 023736 14X20X0,5 228 050032
17 117589 54 --> No. 211 229 083054 BZ3,5X16-ST
18 089824 55 026204 6201 230 049883
19 103736 6304.2RSRT 56 065102 M6X75 231 386928 230V 50/60Hz D
20 004810 30x 57 138550 231 1602896 230V 50/60Hz CH
21 119668 58 018252 M6x12 231 386929 110V 50/60Hz GB
22 112921 61 141568 231 033235 115V 50/60Hz USA
23 026522 6305-Z 201 021164 15X1 231 1641461 230V 50/60Hz CN
24 105083 M14X45 202 083038 M5X50 231 386928 220V 50/60Hz KR
25 070068 RNA 4900 203 020842 232 083070 BZ4,2X25-ST
26 120740  204 031126 233 020842   
27 021563 62X2 206 112396 234 016209 M5X30-8.8
28 112911 207 021482 35X1.5 235 350329 D, CH, KR, CN   08/01…
29 010723 5m6x16 211 083089 220-230V 50/60Hz
30 113676  211  incl. 54+213     
31 120720 M5X16 211 083232 110-115V 50/60Hz
32 112902 211  incl. 54+213
33 112909 212 050261 incl. 54+213
34 112915 K24X28X13H 213 380092

0920811
1694376

0112888
0112889
0144528
0112890




